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FUNCTIONS SESSION 2018~ 14. .

VERY SHORT ANSWER TYPE QUESTIONS (1 MARK) -

1. Write the principal value of
s
() sin ( ,/3/2) (i} cos?(¥3/2)
(ith)  tan™ (-— -1—-)
N -~ (iv)  cosec(-2)
(v} cot? (*1—) | |
N (vi)  sec? (- 2). .
. . (—V3 -1
P (vii)  sin-t (T)+ cos™? (—;—) + tan™ (—1/\@:)
| 2. What is the value of the following functions (using principal value)

T R -
(iii)  tan™'(1) — cot'(-1) (iv) cosec-x(ﬁ)ﬁksecq(m'

(v) tan™! (1) + cot™ (1) + sin* (1). (vi) sin™ (sin %t')

. 3
(vii) tan™ ( tan %) - (viii) cosec™ (cosec —:')
(ix)  cos{cos~? (f-?) + %}

.OJ

iftan~! x + tan™! y = i‘.g’l find cot™' x + cot™y.
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1.

to be inverse of

owing

énts of a school then write. which of foll

stud :
If A s the set of Empty or neither of the two.

relations are Universailg
| ts and |8~ b} > 0}

R ={(a b):8a bare ages of studen |
ents. and ja — b} < 0}

R, = {(a. b): &, bare weights of stud
= {(a, b) : 8, b are students studying in same class}

Is the relation R in the set A={1,2, 3, 4, 8} defined as

R={(a, b): b=a+ 1} reflexive?

If R, is a relation in set N given by

R={(ab):a=b-3,b>5},
then does.element (5, 7) € R?

If f’:i{1.,'3} ={1,2. 5 and g - | |
}aﬂd g: {1. 2, 5} —‘{‘L 2, 3' 4} be given by f= {(1‘ 2)'

(3. 50k 9={(1.3), (2,3), (5, 1y,

write gof.
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10.

1.

12.

13.

14.

18.

16.

17.

Let .
91 R-Rbe defined by

Q(X) +2 v f (x)

3% ~ 2. wrile fog (x)
Wf:R-R defined py

5

be an invertible funclion Write ¢
Iff(x) =

“(x).

|
0gx ang q(x) = ¢*. Find fog and gof, x > 0.

Let * be g Binary Operation defmed on R, then if

0 a'h= a+b+ab,wnte3‘2

(é+b)2

W 8 b == wiite 2eayea,

If I)(A) = D(B) =3

. then how many bijective functions from Ato Bcanbe
formed? :

If £(x) = x + 1, g(x) X =1, then (gof) (3) ?
Is f: N — N given by fix} = x? one-one? Give reason. .

iff: R~ A, given by
f(x) = x* - 2x + 2 is onto function, find set A.

If £ A — B is bijective function such that n (A)=10,then n (B) =7

; . -1 .
If £ R ~ R defined by f (x) =-’5—2-. find (fof) (x)

R={(a. b):a beN,a# band adivides b}. Is R reflexive? Give reason

Is f: R ~ R, given by f(x) = |x— 1| one-one? Give reason

fiR = B given by f(x) = sin x is onto function, then write set B.
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18.

19.

20.

21.

(c)

4. 5) defined by

(d) : il YRS ‘ .‘
i ary operation * on the set {1, 2 3, '
# Seff g (t:h E. glfn;gndpb. write the operalion table for the operation *
) 4x
(%)= 3¢+ 4

- 4] . .
03, Letf:R- {—f} - R- {E} pe a function given by f
| &x

e Pank - » =1 = :
Show that fis invertible with f (X} -———"4__%

24, Let R be lhé relation

R={a by:{(a~ h) is di
relation. Also, write all elements related 1o 4.

295, Show that function f - A-B defined as f(x) = Bxra
5x-7

3y . . Y
B=R- {E} is invertible and hence find .

onsetA={x:XE€ Z 0=
divisible by 4}. Show that R

4 < 10} given by
is an equivalence

4 :
where A= R~ s}’

26.  Let*be a binary operation on Qsuchthat a* b= a + b — ab-

| (i) Proy *is €0 ati
e that* is commutative and associative.

CO‘Q\@ iy Find identiy ¢
o~ . nd identify element of * in Q (if it exists)

B
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